Warm Up

> measures of the angles of-‘:-‘;_'_';i_" ':criahgléfare 50°, 35°, and 95°. What is
asure of the largest exterior angle of the triangle?
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lich scenario would most likely show a negative association between the
ables?

the height of a tree, x, and the amount of time it takes to climb to the top
the tree, y

the number of people in the mall, x, and the number of cars in the parking
lot, y

miles traveled in a car, x, and the amount of gasoline used, y

time spent reading a beook, x, and the number of pages left to read, y
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James is fitting the linear equation y =

1
2

X to a data set. Which scatterplot shows

the data set that the linear equation would fit best?
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James is fitting the linear equation y = %x to a data set. Which scatterplct shows

the data set that the linear equation would fit best?

4
2— .
-
.
1H W
.
< T >
1
v
>< A
2__
=
* ..
L

N\ -
2 B
U
., ® 2-2
: ._‘
e e | A
shoo e 11 2
pa
1— e ®
. L ] e
* . ¢
& s -
- { , >
1 .



ermine if the following are functions... Write “function” or "not function” on the line.
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Werd Croblems
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Which of these are linear and which are non - linear?
How do you know?

l.y=x*-2x 2.y=_x—2
3) A=mr 4) y= -2x2+ 3
5.5x+ 3y =10 6. y—4x =-5
7. y=vVx+9 8. y=3*=2

I 10) y = 0.25 + 0.5(x - 2)



V\/hich of these are linear and which are non - linear?
How do you know?

l.yzx@—ZxNL-' Z‘yzix—z L
3)A=m@ NL 4) y= _2)@+3 NL
S.5x+3y=0L.- 6.y-4x=—5L__

7.y=GrF9 NL s8y=30-2 NL
9. y=+7—x2 N 10)y=0.25+0.5(x-2) | _









Is this a linear or non-linear function? If
linear, write a function(equation) to relate
the independent and dependent variables.

A boat company charges $100 to rent a boat
for 1 day plus an additional fee of $10 an hour.
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linear, write a function(equation) to relate
the independent and dependent variables.
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A car company charges a $35 fee to use their
vehicle. They also charge an additional $.25
per mile (m). Write a function that models the
total cost (c) of taking a passenger to the
airport.

"= C = 3B%.25m
C=

Equation

Draw a graph



Jacqueline is saving for an IPhone. She starts off
with $25 that her parents gave her. She plans to
deposit $30 per month from her babysitting jobs.

a. Write an equation to represent how much money
Jacqueline has saved.

b. What does x represent?
c. What does y represent?

d. Draw a graph to represent how much money
Jacqueline has saved.

e. When will she have enought to buy an Iphone
that cost $6957?



You are flying a helicopter on a really hot day. At 6,000 feet, your engines fail. The helic
ruments say that you are losing 400 vertical feet for every horizontal mile. Given this
yrmation, X represents each horizontal mile and y represents the total distance traveled.

a. What does x represent? b. What does y represent?

c. What is the slope? d. What is the y-intercept?

_ircle the data table that represents this scenario.

X Y X Y X Y
400 | 6,000 1 5,600 0 6,000
800 | 12,000 . 5,200 10 2,000
1,200 | 18,000 3 4,600 20 | -2,000




aurant wants to buy paper plates in bulk so they want to join a whole
(like Sam’s Club). There are three stores they could join.

arges a membership fee of $100 and then $25 per bulk package of p:
arges a membership fee of $50 and then $30 per bulk package of pa;
arges a membership fee of $200 and then $20 per bulk package of p:

o 9.
: : B
ite an equation for each store. , \/ |'
iich store has the cheapest rate for packages of paper plates? Q@

ich store has the highest membership fee?
uch store would give the overall cheapest price if the restaurant need

v 2 packs, 5 pack and 10 packs of paper plates.




ee trains (A, B, and C) leave a train station at the same time. The graph sk
relationship between time and distance for Train A.

Train C .
— 1. What is the slop
aool? of the graph?
o 160 : —
é 210 2. What does the
g L 315 slope represent?
g 80 12 420
2
40 3. Compare the
2 speed of Train (
P 1298387
Time (hours) to the speeds of
Train A and Tra
B.

Train B: y = 45x




e equation y = 11x represents the
ories Jake burns when cross-
intry skiing, where x is time in

nutes and y is the number of ~ Basketball
ories. The graph shows the 3 3000
ories he burns while playing § 10
iketball. Which activity burns 7
ories at a faster rate? Explain. g 1000
- X
0 1 2 3 4

Time (hours)




owling alley offers different birthday party packages:
Package A is represented by the function ¢ = 7p + 5 where c is th

al cost and p 1s the number of people.
Package B is represented in the table.

Package B

umber of People Total Cost $

1. Compare the functions.

12.50

19.00 2. If 12 people attend the
25.50 birthday party, which
32.00 package will cost less

and by how much?




Bobby went with Gold’s Gym, the membership fee would have been $30 but only $2 per exercise class

c. Fill in the table provided with this new information (as done above).
d. Plot the ordered pairs on the graph above.
e. Which of the two gyms would cost more in the long run?
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Intro to Multistep Equations in Context

Professor Botano is gathering data on the growth rate of a certain new
hybrid seed. He spilled coffee on his clipboard and destroyed most of

the data, but he DID remember that the seed had been growing at a con- 7|
stant rate throughout his observations. Help him reconstruct the data.

© Figure out the missing values for Professor Botano’s table below:

# of days since sced

was planted 0 2 3 4 6 8
Height of scedling

(in inches) 7 12

@ What is the plant’s daily growth rate?

© What 1s a possible explanation for the number in the height
spot on day 07

@ Write a function for the height of the seedling
in terms of days (use A for height and d for days):

© Determine and explain the domain and range of your function.



@ Think, show, and interpret!
How tall was the plant on day 1? When will the plant be 20 inches tall?

@ Use this grid to create your best possible line graph that shows the height of the plant in
terms of days.




Think, show, and intetpret!
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Homework

1. Smart Student Learning Center charges students a registration
fee of $25, plus an hourly rate of $30 for after-school tutoring.
Brilliant Student Learning Center charges students for after-
school tutoring based on the table below.

Brilliant Student Learning Center

oot Total Cost
Tutoring )
)
1 $45
3 $115
5 $185
i $255

If a student needs 4 hours of tutoring, which statement is true?

A. Smart Student Learning Center charges $5 more than
Brilliant Student Learning Center.

B. Brilliant Student Learning Center charges $5 more than
Smart Student Learning Center.

C. Smart Student Learning Center charges $35 more than
Brilliant Student Learning Center.

D. Brilliant Student Learning Center charges $35 more than
Smart Student Learning Center.

2. Use Function S and Function T to answer the question.

Function S Function T
- ¥ y=4x + 6
-6 | -4
=2 2
2 8
6 14 &

Which statement is true about the Functions S and T?

=

The slope of Function S is equal to the slope of Function T.
B. The slope of Function S is steeper than the slope of Function T.

C. The slope of Function S is not as steep as the slope of Function T.

o

The relationship between the slopes of Functions S and T cannot be
determined.



4. Pizza Village uses the equation y = 1.10x + 9 to calculate the
cost of a cheese pizza with x additional toppings. The table
below shows the cost of cheese pizza from Mama Mia's based on
the number of additional toppings.

3. Mermaid Swimming Club uses the equation w = 25h + 40 to
calculate the total cost, w, of h hours of swim lessons. Dolphin
Swimming Club uses the table below to calculate the cost of
swimming lessons for its customers.

Hours () Total Cost (w) Humber of Toppings Tota C?SI
2 $110 ! 2L
3 s155 5 $14.25
6 $200 2 SLEE

i rd
For 7 hours of swimming lessons, which club is less expensive Which statement is true

and by how much?

A. Mama Mia’s charges $2.82 more per topping than Pizza

A. Dolphin Swimming Club, by $2.50 Village.
B. Mermaid Swimming Club, by $2.50 B. IF:’Iilzaz': Village charges $2.82 more per topping than Mama

£ (B0l p s e g (N By 550 C. Mama Mia’s charges $0.15 more per topping than Pizza

Village.
D. Mermaid Swimming Club, by $7.50

D. Pizza Village charges $0.15 more per topping than Mama
Mia’s.



THE CAR PROBLEM .

Multistep Equations in Context

© Use your functions and ta- Nifty vs Shazam Car Rental Comparisons
Suppose the Allmans want to rent a convertible for the day. bles to make your best pos-
They have a choice of two rental companies: sible comparison graph

that represents the costs
for both companies.

« A one-day rental at Nifty Car Rental costs $30 plus 60
cents per mule.

« A one-day rental at Shazam Car Rental costs $55 but
only charges 35 cents per mile.

© Make a good data table:

# of miles driven

Nty

Total Cost ($)

Total Cost ($)

@ Write a function for each car rental company that expresses the total cost in terms of
the number of miles driven. (Use C for cost and # for miles.)
Nifty Car Rental Shazam Car Rental

@ At what number of miles will the two companies cost the same?
© If the Allmans drive 225 miles, which company would be a better deal? Explain. Cirele the place on the graph that verifies this.

Then use your functions to prove your
© If the Allmans drive 225 miles, which company would be a better deal? Explain. solution with an algebraic method.

@ If the Allmans only have $80 to spend, which company would be a better deal? Explain.



Name __ Teackes s Rey

© Use your functions and ta-

I'HE CAR PROBLEM

fultistep Equations in Context

Suppose the Allmans want to rent a convertible for the day.
They have a choice of two rental companies:

« A one-day rental at Nifty Car Rental costs $30 plus 60
cents per mile.
« A one-day rental at Shazam Car Rental costs $55 but

only charges 35 cents per mile.
© Make a good datatable: ~Think olest domain when ath .
i ‘-\-l—tj “o ;ns:f: \:..-\:\'i :;—:gaﬁ 0&,\'_
# of miles driven
o 20 4o (2] B0 leo 200 | 3oo | 4oo
Nifty
Sotal ot ) 30 |4 | 5% |6 | 78 | Qo 1Se | 21e | alo
s
T 5 2> | L9 | Te 83 | 9o \25 | ko | 19S5

® Write a function for each car rental company that expresses the total cost in terms of
the number of miles driven. (Use C for cost and # for miles.)
Nifty Car Rental Shazam Car Rental

C= 30 + 0.tom C= 55+ 0.35m

|
© If the Allmans drive 225 miles, which company would be a better deal? Explain.

N.’Q-%ﬁ Shazanm :
2= 30 + 0.60(a%) c= 55+ 0.35(aas)
C= %165 c= %133.Ts

@ If the Allmans only have $80 to spend, which company would be a better deal? Explain.

ATU% &}

o= DO+ O.6O0m

m
Ro = S5+ 0.35m

m= 8373 miles vaz T1¥ miles

m
miles for 480~
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ble comparison graph that
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Tota\ Cost €

¢

miles dciven

@ At what number of miles will the two companies cost the same? __199 miles

Circle the place on the graph that verifies this.  When wil\ h\\'&‘-gs GCozk = Shazan

Then use your functions to prove your When: 30+ .6 = S5+ .,35m
-85 . 3Bm -30 -.35m

solution with an algebraic method.
&.28m= 25
025 .25

o= \oo mile

@ Which car rental company should the Allman’s choose and why?
around  towan - s % woold  sau

Snazam s a beltec A Swen © theu end vp drvin
o Wile less “an 100 wiles ,—ﬂw:j va 4o lose o
Eocksie el & - choose N;(_\x%om\ Jo

“hew co\d spevd o ofe W PN

Onless -\'\-:3 plan on stauin

on

ovex |OC















